ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

22" and 26" Pro-frame Parts List -

Structural frame profiles —
Perforated square tube:

>

LI
hwm om o O W@ W

(Qty. 1) Frame size in inches (i.e. 6’ frame = 72", except for 12’ = 141”)
(Qty. 2) 43.5”

(Qty. 2) 40.5”

(Qty. 2) 34.5”

(Qty. 1) 277

(Qty. 1) 247

(Qty. 2) 22.5”

(Qty. 2) 217

(Qty. 2) 15”

(Qty. 6) 13.5”

Perforated rail tube:

(Qty. 2) Frame size in inches minus 3” (i.e. 6’ frame = 69", except for 12’ = 138")
(Qty. 2) 40.5”

Slotted beam:

(Qty. 2) 4.5”
(Qty. 2) 6”
(Qty. 2) 9’
(Qty. 2) 15”
(Qty. 2) 20.5”

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 1
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Commercial Parts -

Lower carriage rear wheel assembly (Qty. 1)

Liner roller collar adjustable angle bracket (Qty. 1)
) (O
[

Liner roller collar adjustable angle bracket with hand wheel (Qty. 1)

Take-up / bed roller collar (Qty. 3)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 2
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Take-up roller collar with hand wheel (Qty. 1)

Top fabric roller collar mount (Qty. 1)

©

Top fabric roller collar mount with hand wheel (Qty. 1)

Steel strap (Qty. 6)

Side clamp (Qty. 2)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 3
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Pointer (Qty. 1)

Pivot arm bracket (Qty. 4)

O
O
O

Roller tube (Qty. 4) — Frame size plus 2 inches (i.e. 6’ = 74")

=
O

Roller collar (Qty. 8)

Gas spring with ball mounts (Qty. 2)

—————— 8

L ——l

Pivot arm shoulder bolt and plastic washer (Qty 4)

[l

Shoulder Dia.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 4
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Rubber bumper (Qty. 2)

Rubber tape roll (Qty. 1 roll)

Roll end cap (Qty. 8)

Rubber screw cap (Qty. 2)

O
~
=

Adjustable elastic cord clip (Qty. 2)

Elastic cord (Qty. 2)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 5
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Table tops (Qty. dependant on machine size)

5 hole gusset plate (Qty. 6)

4 hole gusset plate (Qty. 4)

Pivot nub (Qty. 2)

Standard cross block (Qty. 16)

Extended cross block (Qty. 6)

5/16 T-nut (Qty. 20)

b

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 6
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, Inc.

Series: 1022/1026 V13.0

Model: Innova Longarm Quilting Machine Assembly Guide
#10 T-nut (Qty. 2)
&
Machine foot (Qty. 6) _
H
Tubing end cap (Qty. 18)
Beam end cover (Qty. 4)
o
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 7

No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc.
Model: Innova Longarm Quilting Machine

Bolt kit —

Hex head cap screws:

(Qty. 6) 5/16 x 1/2”
(Qty. 30) 5/16 x 3/4”
(Qty. 2) 5/16 x 1”
(Qty. 40) 5/16 x 2~
(Qty. 68) 5/16 x 2-1/4"
(Qty. 4) 5/16 x 2-1/2"
(Qty. 26) 5/16 x 3-1/2”

Socket head cap screws :

%

(Qty. 2) #10 x 3/4”

Flat washers:

S

(Qty. 200) 5/16

Lock washers:

&

(Qty. 30) 5/16

Series: 1022/1026 V13.0
Assembly Guide

Nylon insert lock nuts:

I b
;9_;

e i

(Qty. 100) 5/16

Hex nuts:

E éx
L o2

(Qty. 20) 5/16

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 8
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

22" and 26" Pro-frame machine leg assembly —

Note: Make (6) pieces

Step 1: Install Hex nut onto each of the (6) machine feet. Screw nut all the way down to the top of the flat
on threaded foot.

Step 2: Install (1) flat washer onto each of the (6) machine feet.

Step 3: Install machine feet into (6) extended cross blocks. Note only one end of cross block is threaded.

“
I’

O -

O
EXTENDED
CROSS BLOCK
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 9

No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1022/1026 V13.0

Model: Innova Longarm Quilting Machine Assembly Guide

Step 4: Install foot assembly into (6) 13.5" long tubes. Use (1) 2-1/4" hex bolt, (2) flat washers (one per

side), and (1) nylon lock nut per assembly

Step 5: Install (1) 1/2" hex bolt with (1) flat washer into the side of each leg assembly.

Step 6: Install (1) Plastic tube end cover into the open end of each foot assembly.

Step 7: Tighten all bolts, set aside.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.

No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.

10



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

22" and 26" Pro-Frame side rail support assembly —

Note: Make one left and one right hand assembly

Step 1: Install a standard cross block (2 total) into each end of the 40.5" tube using (1) 2-1/4 hex bolt, (2)
flat washer (one per side) and (1) nylon lock nut. Note: Install so that hex heads of the bolts are fa  cing
the same direction on each end.

0500

rocOoDOoOoa4a<rC000O04d S C>FO0O0O0O0a S0 C0

inH=
nHE=

STRMD&RD
CROZ: ELOCK

Step 2: Install a standard cross block into one end of the 21" tube using (1) 2-1/4 hex bolt, (2) flat washer
(one per side) and (1) nylon lock nut.

21.000

@3 9 9 9 9 v g 9.9 9

81« ==k

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 11
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step3: Bolt 21" tube onto 43.5" tube through 2nd hole from one end. Use (1) 2" hex bolt and (1) flat
washer.

42,500

[ 4 4 a4 4 4 4 49 4 49 & & b b o B & B & B &0 0 0 0 0 0 o

21.000

B A a aaaaaaasz s e|le|l|l=

Step 4: Bolt 40.5" tube, from step 1, to 21" tube (9) holes down from connection to 43.5" tube. Use (1) 2"
hex bolt and (1) flat washer.

n oo Qono o0 o0 o000 o0 o0 o0 oo o0 o0 o0 o0 o0 o0 o oo onan

n
n
n
n
" 40,500
n
n
n
E=j|7|® » » n » m OO0 O OO OO QRO Q0 O0QDO0 Q000D QD000
]
n
n
n
]
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 12

No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Steps: Install 34.5" tube onto open end of 40.5" tube. Install into 6th hole from one end of 34.5" tube.
Use (1) 2" Hex bolt and (1) flat washer.

P 98 r F A 49 R EF T AR EFF AR EFF A0 T Aan R EoA

24500

P 98 r F A 49 R EF T AR EFF AR EFF A0 T Aan R EoA

© 4 @ & & 4 @ & & 4 @ & & 4 4 & & o4 4 66 & 4

|vﬂuoﬂﬂuuvﬂuouﬂﬂ

Step 6: Using (1) 5 hole gusset plate attach 43.5" tube to 34.5" tube. Use (5) 2-1/4" hex bolts, (10) flat
washers (one per side) and (5) nylon lock nuts. NOTE: MAKE SURE TO ASSEMBLE (1) LEFT AND (1)
RIGHT ASSEMBLY.

LEFT =IGHT

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu

TN C ] B |

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 13
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step7: Using (1) 5-hole gusset plate, attach 20.5" slotted beam to 43.5" tube. Beam should mount
through 11th hole from open end of 43.5" tube for a 26” and the 14" hole for a 22". Use (3) 2-1/4" hex
bolts, (6) flat washers (one per side) and (3) nylon lock nuts to attach plate to perforated square tubing.
Place (2) 3/4" hex bolts with (2) lock washers (one each) in open holes on gusset plate. On opposite
side, attach (2) T-nuts bump side facing away from gusset plate. Slide the 20.5” slotted beam onto the T-
nuts and tighten. NOTE: MAKE SURE TO ASSEMBLE (1) LEFT AND (1) RIGHT ASSEMBLY.

20,500 a 20,500

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

[F s coveavsassalesa e osvos

86;’! 88#}'

Step 8: Using (1) 5-hole gusset plate, attach 15" perforated tube to 43.5" tube. 15" Tube should mount
so that there are 4 open holes between the 5-hole gusset plates as in the picture below. Use (5) 2-1/4"
hex bolts, (10) flat washers (one per side) and (5) nylon lock nuts. NOTE: MAKE SURE TO ASSEMBLE
(1) LEFT AND (1) RIGHT ASSEMBLY.

15,000

aaaaaaaaaaaaaaaaaaaaaaaaaaaaa

L T T T - T - - S B TS S 1

|ooonnooonnooonnoolonnaool

|ooouuooouuooou

Step 9: Slide (1) 5/16 T-nut into the any slot of the 9” beam. This T-nut will be used later. Install (1) 9"
beam between 15" tube and 34.5" tube through the 6th hole from open end of 15" tube. Use (2) 2" hex

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 14
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.




ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

bolt and (2) flat washers. Position 9” beam so the slot with the T-nut is facing the same direction as the 5
hole gusset plates.

e F000 —=

—l

uuuuuuuuuuuuuuuuuuuuuuuuuuuuu

Step 10: Install liner roller support bracket to top end of 34.5" tube (also install a cross block into the end
of the tube). Use (2) 2-1/4" hex bolt, (4) flat washers, (2) nylon lock nuts. The balloon on the left
illustrates how to install the cross block in the tube end. The right balloon shows the liner roller support
bracket correctly installed on the 34.5” tube end.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 15
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 11: Install (1) 1” hex bolt, (1) hex nut, gl flat washer into the end of the cross block.
Install rubber cap onto head of hex bolt.

1O

vvvvvvvvvvvvvvvvvvvvvvvvvvvvvv

aaaaaaaaaaaaaaaaaaaaaaaaaaaaa

Step 12: Completed pro-frame left and right selesupport assemblies.

&

A P

ce’

nnnnnnnnnnnnnnnnnnnnnnnnnnnn

ce”

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 16
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

22" and 26" Pro-frame pivot roller assembly —

Note: Make one left and one right hand assembly

Step 1: Install pivot nub onto threaded end of 15" slotted beam. Use bolt with supplied nub. NOTE:
REMOVE T-NUT AND SAVE.

- 132.000 ————=

Step 2: Install 4 hole gusset plate onto 15" slotted beam approximately 1" from end with nub. Use (2) 3/4"
hex bolts, (2) lock washers, and (2) T-nuts. NOTE: MAKE (1) LEFT and (1) RIGHT HAND ASSEMBLY.

1000

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 17
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 3: Install 4 hole gusset plate onto open end of 15" slotted beam - flush to end. Use (2) 3/4" HEX
bolts, (2) lock washer, and (2) T-nuts.

Step 4: Install top fabric roller support onto thread end of 4.5" slotted beam. Use (1) flat washer.

%

4.500

\FLAT WASHER

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 18
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 5: Install 4.5" slotted beam onto 4 hole gusset mounted flush to end of 15" slotted beam. Use (2)
3/4" hex bolts, (2) lock washers, and (2) T-nuts.

(D e} o} < o}

Step 6: Install (2) 3 hole pivot brackets onto nub end. Use (2) 3/8" shoulder bolts and (2) plastic washers.
Install plastic washer between 3 hole plate and pivot nub.

8}
o] o o o o
a
8] a
o ¥}
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 19

No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 7: Install pivot roller assembly onto 15" perforated tube located on side frame assembly. Use (2) 2-
1/2" hex bolts, (4) flat washers, and (2) nylon lock nuts. Adjust the height of the rubber capped hex bolt so
the 15” slotted beam is level to the ground.

ole 0 a = o ale o

o o o]
-

2 0 a oo ol g o apm e r a9 0flae ol a oo oo

© b4 & 0 v b 4 9 0 4 00 e B4 S 0 A4 B0 s D a4 & o0 6

‘Uoouoooouooooooou|oooo-

‘naouooaonaoaooa

Step 8: Attach gas spring upper ball joint to #fetgusset plate and secure with (1) nylon lock
nut. Install lower gas spring ball joint into tidacated in 9” beam. Use (1) flat washer between
lower ball joint and 9” beam. Tighten lower mouNOTE: The gas springs can either install on
the outside or the inside of the frame as pictloeldw. Extra hand clearance is achieved by
installing the gas spring on the inside of the ®amnhere collars are equipped with hand wheels.

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 20
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

22" and 26" Pro-frame lower carriage assembly -

Step 1: Install the 6” slotted beam onto the (2) 40.5" P-rail tubes thru 4th hole from open end. Use (2) 2"
hex bolts, (2) flat washers.

40,500

aoo{|a‘naaaoooaaaaoaooonoaaano B:I|| ‘||:ﬂ

OPTIONAL: INSTALL T-NUT IN THIS SLOT
FOR STITCH REGULATION

Step 2: Install a second 6" beam onto 40.5" tube. Mount thru 1st hole on opposite end of tube. Use (2) 2"
HEX bolts and (2) flat washers.

oao|o|aoooaoooaoaooooeooooooo —l |—=

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 21
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 3: Install rear carrier wheel mount onto 40.5" tube thru the 5th hole from end of tube. Use (2) 2-1/4"
HEX bolts, (4) flat washers and (2) nylon lock nuts. NOTE: SEE DRAWINGS FOR PROPER BRACKET
AND WHEEL ORIENTATION.

Step 4: Install rear carrier wheel mount onto 40.5" tube thru the 5th hole from end of tube. Use (2) 2-1/4"
HEX bolts, (4) flat washers and (2) nylon lock nuts. NOTE: SEE DRAWINGS FOR PROPER BRACKET
AND WHEEL ORIENTATION.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 22
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

26" Pro-frame final assembly —

Step 1: Install (1) standard cross block (2 total) into each end of the long rail tubes using (1) 2-1/4 HEX
bolt, (2) Flat washer (one per side) and (1) Nylon lock nut. NOTE: INSTALL BOLTS SO THAT HEX
HEADS ARE FACING THE SAME WAY AS DRAWING INDICATES.

4 @4 4 o o@D D o & O O O O O 0 0O O o 4 a o

3]

o1 [l I=2
o1 [ 1=2

Step 2: Bolt long rail tubes to side support frame assemblies using (4) 2" HEX bolts, and (4) flat washers.
See drawing for rail locations and orientation for a 26” and 22" machine setup. NOTE: bolts passing
through the 5-hole steel plate must be longer 2-1/4" HEX bolts.

|
N ce’ -
=
cc”
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 23

No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 3: Bolt long square tube to side frames using (2) 3-1/2" HEX bolts, (4) flat washers, and (2) nylon
lock nuts. Position tube directly below front long rail tube. NOTE: SEE SIDE VIEW.

.................. il '
- 2e” -
a
ze”
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 24

No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1022/1026 V13.0

Model: Innova Longarm Quilting Machine Assembly Guide

Step 4: Install (1) standard cross block (2 total) into each end of the 27" tube using (1) 2-1/4” hex bolt, (2)

flat washer (one per side) and (1) nylon lock nut. Note: Install so that hex heads are facing the same
direction on each end.

27.000

T
i

STANDARD
CROSS EBLOCK

|000000000000000000|

g1 1=
o1 o] l=2

Step 5: Install 27" tube between the long rail tubes at center of rails. Use (2) 2" HEX bolts, (4) flat
washers. NOTE: POSITION BOLTS SO BOLTS ARE PARALLEL TO FLOOR .

oooooooooooooooooooooooooooooooooooooooooooooooo

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.

25



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 6: Install (1) standard cross block (2 total) into each end of the 24" tube using (1) 2-1/4” hex bolt, (2)
flat washer (one per side) and (1) nylon lock nut. Note: Install so that hex heads are facing the same
direction on each end.

24.000

A
=

STANDARD
CROSS BLOCK

|OQODI§OOI§DOO¢DDOQ|

21 [[d] lI=
B[] ==

Step 7: Install 22.5" into front and rear upper long rail tube and lower long tube at approximately center of
the rail. Remove the 2-1/4" bolts installed through the 27” beam and cross blocks in STEP 4 on page 24.
Use (3) 3-1/2" HEX bolts, (6) flat washers, and (3) nylon lock nuts. Install 24” tube into 8" hole from the
top of the 22.5” tubes. Use (2) 2" hex bolts and (2) flat washers.

2500 R o

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 26
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 8: Install (4) steel straps to the lower tube and upper rail tube using (6) 2-1/4" HEX bolts, (12) flat
washers, and (6) nylon lock nuts. NOTE: SEE DRAWING FOR HOLE LOCATIONS.

2300

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 27
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.




ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 9: Square long rail tubes to lower carriage assembly. Insure that rails ride in the center of the
wheels for smoothest performance. If rail to wheel relationship is consistent down the entire length of rail,
adjust the front carriage wheel mount. If the rail to wheel relationship differs as the carriage moves down
the rail, adjust the long rail tubes at either end by loosening and repositioning the ends or by adding
washers to the 21" center tube.

LOWER CARRIAGE

ASSEMBLY\

G a4 A b e @A e oa oA d T EEERE R

RAIL SHOULD I:EINTPM:T/

CENTER OF CARRIAGE
WHEEL

IR

o
IR

X EE 2 EIR)

T 93 9K 003 F 00300 R NN B )

ey s | BN

Step 10: Install the rear long rail tube steel gusset straps using (2) 2-1/4" HEX bolts, (4) flat washers and
(2) nylon lock nuts.

[lecacow BB o909 rorneneno Ffgr v v o s 099 vov o i gw et an e [
& - ¥ RAIL GUSSET
: . | STRAP LOCATION
£
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 28

No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 11: Install the take up and bed roller mounts onto the 20.5" vertical beam.

ooooooooooooooooooooooooooooo

Step 12: Install the (4) rollers into the roller mount locations. Adjust the bed roller mount so that the roller
does not rub on the bed of the sewing machine as it passes underneath.

Step 13: Install roller collars onto the end of each roller as pictured below. (8 collars total)

NOTE: LIGHTLY TIGHTEN ROLLER COLLAR SET SCREWS. OVER-
TIGHTENING COLLARS WILL MAKE ROLLERS HARD TO TURN. THE
SET SCREWS SHOULD NOT DIMPLE OR DISTORT THE ROLLER. THE
SCREW SHOULD ONLY BE TIGHT ENOUGH TO KEEP THE COLLAR
FROM FALLING OFF OF THE ROLLER.

¢ %

THKE-UFP ROLLER
i/

T

L INER RFOLLER \Nuﬂ-:u COLLARS INETALLED

OH EITHER SIDE OF THE

STATIONARY COLLAR LOCATED

OFPOZITE OF THE cOLLAR WITH HAMDWHEEL

=

il

[ —

TOF FABRIC ROLLER

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 29
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 14: Install 1" rubber tape onto the bottom and sides of the long rail tubes. Keep rubber tape away

from edge of rail where wheel rides. If the wheel contacts the rubber tape, poor rolling performance may
result.

/ 1" RLUEEER TAFE

O

Step 15: Install machine leg assemblies onto frame. Use (2) 3-1/2" hex bolts, (4) flat washers and (2)
nylon lock nuts per assembly

i il

Step 16: Install table top between the long rail tubes. Table should fit smoothly. Table should not be
forced in between rails or damage may occur.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 30
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 17: Install the sewing machine onto lower carriage assembly.

IR NN

4 0 A0 4 B 4 0 A O A 4B 0

[
Iy

Step 18: Install rubber bumpers onto 20.5” slotiedm, on the side of beam facing carriage
assembly. Use (1) #10 x % socket head cap scréWlam10 t-nut. Adjust position of bumper
So carriage contacts the bumper before hittingetiteof frame. Install one bumper on each end.

Step 19: Install plastic side clamp and elasticl@r each end using elastic cord clip to adjust
the cord length.

IMETALL ELASTIC CTRO THRU THIRD
HOLE FROM TOF OF FEAM

............................

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 31
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

22" and 26" Pro-frame axis locks -

(2) Red knob (2) Swivel base

(1) 3-1/2” Threaded stud

(1) 4” Threaded stud

Step 1: Install the (2) red knobs onto one endoth bhreaded studs.

Step 2: Screw the 4” threaded stud through eitinetdft or right side threaded hole on the lower
carriage bracket with 4 wheels. Install (1) swibvate onto the bottom of the 4” threaded stud.

AX1E LOCK INZTALLED

LOWER CARRIAGE

WHEEL BRHCKET\ ﬁ
1]

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 32
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 3: Screw the 3-1/2” threaded stud througtiitteaded hole located on the right side of the
rear aluminum wheel beam. Install (1) swivel base d¢he bottom of the 3-1/2” threaded stud

AXIS LOCK
INSTALLED
AxIZ LOCK
INSTALLED
\‘
: O] (%
o ¢ 2 @ © @8 v 0 @ 0 G 0 O v D O 0 @

T K

0|{>0¢00{>000000{>¢|0

Operational instructions:

Screwing the lower axis lock down until the switsalse makes contact with the table top makes
the machine resist rolling left or right.

Screwing the upper axis lock down until the swivase contacts the lower carriage makes the
machine resist rolling forward or back

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 33
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

ONLY IF EQUIPPED:
22" and 26" Pro-frame stitch regulator installation -

OPTIONAL - Please skip this section if the machine  was purchased without stitch
regulation.

The machine uses two wheel encoders, see figuogvpt track the motion of the machine
when stitch regulation is active. For shippinggases, the encoders are wired into the machine
but not attached to the sewing head or the lowetagge. Follow the steps below to properly
install the stitch regulator.

I

/-WHEEL EMCODER #1

- |/
12— o)
M=z 6 6 c © a6 c 65 a5 5o ala

1

Qe v 2 49 9 83 B £ 49 49 D g &149

WHEEL ENCODER #2

The wheel encoders were designed to be installed in specific locations. The picture below shows the
encoders as they are found wired to the sewing head.

] ]
LOWER CARRIAGE ENCODER UFFPER CARRIAGE ENCODER,
WITH BRACKET BRACKET AND S0 DEGREE
BRACKET
Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 34

No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

Step 1: Install the upper carriage wheel encoder and 90 degree bracket onto the rear aluminum wheel
beam of the sewing head with the supplied bolt and nut. NOTE: Removal of the rear wheel may be
necessary to install the nut.

|

WHEEL ENCODER UPPER CARRIAGE

“WHEEL EMCODER
4&4—@ 0y j N

010|DDOOOOQQODDDDDDO|O

K

DDDDDDQOOQQQQDD|D

Step 2: Install the lower carriage wheel encoder onto the rear aluminum beam of the lower carriage with
the supplied bolt and nut. NOTE: Removal of the beam may be necessary to insta Il the nut.

Figure above: Close up view of lower carriage whestlalled on beam.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 35
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



ABM International, I nc. Series: 1022/1026 V13.0
Model: Innova Longarm Quilting Machine Assembly Guide

|
CE= 3 j |

||]:'n|ououounun'unﬂnunﬂn
]

anananananananaE| \

LOWER CARRIAGE WHEEL EWCOIDER

LOWER CARRIAGE WHEEL EMCODER

Step 3: Confirm that the upper and lower wheele dd the same flange that the plastic wheels
of the sewing machine and lower carriage roll on.

Step 4: Confirm that the electrical cable of thedo carriage encoder has enough slack to allow
sufficient movement front to back without gettirtgesched. Install the ¥4 turn wire mount into
the top channel of the lower carriage rear beamngtah tie the main power and lower encoder
cable to itNOTE: Besureto leave enough slack on the encoder cable when nylon tying so

that the encoder wheel makes proper contact with theflange. If the cableistoo tight, the
encoder wheel will not roll properly causing stitch regulation problems.

E—@ (o) j

f 0|QQODDQOODDOQODDQ|O

174 TURN WIRE MOUMT W »—q]m]

L= - - - - T - - D - R - I - -

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 36
No other uses are authorized without the prior written permission of

ABM INTERNATIONAL, INC.



